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(1) Ec&Device B
# (FRENQARRSS S, BB MEITAYIPHENE/910.2.2.2, i%S799000,
<DeviceB> system-view
[DeviceB] nga server enable
[DeviceB] nga server udp-echo 10.2.2.2 9000
(2) BcEDevice A
# BIEZUDP-jitterzRBUIINQATIRN A H BC R XM 244,
<DeviceA> system-view
[DeviceA] nga entry admin test
[DeviceA-nga-admin-test] type udp-jitter
[DeviceA-nga-admin-test-udp-jitter] destination ip 10.2.2.2
[DeviceA-nga-admin-test-udp-jitter] destination port 9000
[DeviceA-nga-admin-test-udp-jitter] quit
# FAENUDP-jitterUizt#4E.
[DeviceA] nga schedule admin test start-time now lifetime forever
# WHT—RREJIESS, (FLEUDP-jitterUizi4(E,
[DeviceA] undo nga schedule admin test
# BRUDP-jitterli PR E—IRMIKAIEESR.
[DeviceA] display nga result admin test
NQA entry(admin admin, tag test) test results:
Destination IP address: 10.2.2.2
Send operation times: 10 Receive response times: 10
Min/Max/Average round trip time: 7/10/8
Square-Sum of round trip time: 646
Last succeeded probe time: 2007-11-22 10:16:49.0
Extend results:
Packet lost in test: 0%
Failures due to timeout: 0
Failures due to disconnect: 0
Failures due to no connection: 0
Failures due to sequence error: 0
Failures due to internal error: 0
Failures due to other errors: 0
UDP-jitter results:
RTT number: 10

SD max delay: 5

Min positive SD: 1

Max positive SD: 1
Positive SD number: 2
Positive SD sum: 2
Positive SD average: 1
Positive SD square sum: 2
Min negative SD: 1
Max negative SD: 2
Negative SD number: 3
Negative SD sum: 4
Negative SD average: 1

DS max delay: 5
Min positive DS: 0
Max positive DS: 0
Positive DS number: 0
Positive DS sum: 0
Positive DS average: 0
Positive DS square sum: 0
Min negative DS: 0
Max negative DS: 0
Negative DS number: 0
Negative DS sum: 0
Negative DS average: 0
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Negative SD square sum: 6 Negative DS square sum: 0

SD lost packet(s): 0 DS lost packet(s): 0

Lost packet(s) for unknown reason: 0
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